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PROBLEM 6.129

The double toggle mechanism shown is used in a punching machine.
Knowing that links 4B and BC are each of length 150 mm, determine the
couple M required to hold the system in equilibrium when ¢ = 20°.
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PROBLEM 6.137

The drum lifter shown is used to lift a steel drum. Knowing that the mass of
the drum and its contents is 240 kg, determine the forces exerted at F and H
on member DFH.
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PROBLEM 6.142

The compound-lever pruning shears shown can be adjusted by
placing pin 4 at various ratchet positions on blade 4CE. Knowing

branch, determine the magnitude P of the forces that must be applied to the
handles when the shears are adjusted as shown.
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25 mm PROBLEM 6.158

The tongs shown are used to apply a total upward force of 45 kN on a
pipe cap. Determine the forces exerted at D and F on tong 4DF.
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A § 2 4 PROBLEM 6.161
0.5m | For the frame and loading shown, determine the components of the
D LE__F forces acting on member DABC at B and at D.
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